
Statics:The Next Generation (2nd Ed.)   Mehta, Danielson, & Berg   Lecture Notes for Sections 2.5,2.6 1

EXAMPLE

G Given:Two forces F and G are applied to a hook.  Force F

is shown in the figure and it makes  60° angle 

with the X-Y plane.  Force G is pointing up and 

has a magnitude of  80 lb with α = 111° and β = 

69.3°.

Find: The resultant force in the Cartesian vector form.
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GROUP PROBLEM SOLVING

Given: The screw eye is subjected to two forces.

Find: The magnitude and the coordinate direction 

angles of the resultant force.


